Chapter — 2
People as Resource
Worksheet - 3

Choose the correct option:

1. The persons who are not working by their own willing is covered under:
(a) seasonal unemployment

(b) disguised unemployment

(c) educated unemployment

(d) none of the above

2. Disguised unemployment when the number of persons working on a farm is:
(a) only what is required

(b) more than required

(c) less than required

(d) None of the above

3. Ifaperson cannot find jobs during some months of the year, which type of
employment is this called?

(a) Structural unemployment
(b) Cyclical unemployment
(c) Seasonal unemployment
(d) None of these

4. What is the literacy rate of India as per 2011 census?
(a) 60%

(b) 62%

(c) 74.04%

(d) 70%

5. What is the sex-ratio of India According to 2001 census?
(a) 921 females per 1000
(b) 930 females per 1000
(c) 928 females per 1000
(d) 933 females per 1000

6. Forestry and dairy are related to which?



(a) Primary Sector
(b) Tertiary Sector
(c) Secondary Sector
(d) None of the above

7. What is the expanded form of PHC?
(a) Public Health Club

(b) Private Health Club

(c) Primary Health Centre

(d) None of these

8. From the following in which fields is disguised unemployment found?
(a) Industries

(b) Agriculture

(c) Mining

(d) Fisheries

9. What is the aim of Sarva Siksha Abhiyan?

(a) To provide elementary education to women

(b) To provide elementary education to the rural poor

(c) To provide elementary education to all children in the age group 6-14 years
(d) To provide elementary education to the urban poor

10. Which one from the following is related to the tertiary sector?

(a) Agriculture

(b) Forestry

(c) Mining

(d) Communication

Answer the following Questions.

11. What is the health status of the population in India?

12. Why is health of people a matter of major concern for the Indian
government?

13. “Unemployment leads to low income and low savings and hence low

demand and low production. This is the identification of a depressed

economy.” Support the statement with three arguments.



14.

15.

16.

17.

18.

19.

20.

In what way is human capital superior to other sources like physical
capital? How a large population is turned into a productive asset? Explain.
Describe the employment scenario in the three sectors of the economy in
India in recent years.

Analyse the role of education in the formation of human capital.

Describe five main features of Sarva Shiksha Abhiyan.

Describe the policy of government on higher education as per 12th Five
Year Plan.

Why will a firm not like to employ a worker with ill-health? How does it
affect the working environment?

Describe different types of unemployment found in India.



